


































































Hougang Primary School – 2009 – P3- SA1 – Science 

 
Booklet A – MCQ : 

(01) 3 (02) 2 (03) 4 (04) 1 (05) 3 

(06) 4 (07) 4 (08) 4 (09) 4 (10) 1 

(11) 3 (12) 3 (13) 3 (14) 3 (15) 4 

(16) 3 (17) 3 (18) 1 (19) 4 (20) 1 

(21) 2 (22) 4 (23) 2 (24) 3 (25) 3 

(26) 3 (27) 2 (28) 4 (29) 2 (30) 4 

 

Booklet B : 

(31) a) Living things can move by themselves. b) Living things respond to changes. 

 c) Living things die. d) Living thing reproduce. 

(32) (a) P : Plants Q : Animal 
      R : Fungi S : Micro-Organisms 

(b) Flowering / Non-Flowering 

(33) (a) Plant X and Y have leaves. (b) Plant Y has stem while plant X doesn’t have stem.  
Plant Y grows on the ground while plant X grows on a 
log. 

(34) (a) Animal D will die first because it 
doesn’t have air, food and water. 

(b) Animal A will survive the longest. 

(c) Animal A and B have air and water. 

(35) (a) Animal A and B do not have shell. (b) C 

(36) (a) A : curve beak   B : straight beak  
     C : beak longer than head   
     D : beak shorter than head 

(b) birds lay eggs; Birds have beak; Birds have feather and 
wings; Birds breath thru lung. 

(37) (a) Group 1 : R, P;    Group 2 : Q, S (b) Group 1 is plants and Group 2 is fungi. 

(38) (a) Group X and Z have wings (b) W: scales  Y : hairs 

(39) (a) set-up D (b) mould required warm temperature and moisture to 
grow. 

(40) (a) string B (b) more marbles can be put in the container before the 
string snapped. 

(41) (a) He can carry out the experiment by 
scratching the nail against the chalk. 

(b) He will observe scratch marks on the chalk. 

(c) Danny should try to bend the nail. 

(42) A : cork, rubber duck   B : safety pin, paper weight 

(43) (a) She should measure the water level to 
decide which type of the material is the 
most absorbent. 

(b) Material M 

(c) Material K 

(44) (a) Benny was testing which rod is the 
strongest. 

(b) A : Plastic B: Metal   C : Rubber 

(c) No! He shouldn’t change only one of the weight. He 
must use the same weight to test the three rods. 

 

-- End of this page. 




